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Note: (i) Answers may be written either in
English or in Hindi; but the same
medium should be used throughout the
paper.

(i) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges
(Cat “A’). These marks will, however, be
scaled up proportionately in respect of
the students of NCWEB at the time of
posting of awards for compilation of
result.
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.Attempt any five questions.
All questions carry eq_ual marks.
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Distinguish between Normative and Positive
Economics.

Show how the production possibility curve
illustrates the concepts of scarcity, choice and -
opportunity cost. 6,9
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(a) Given two straight line intersecting demand
curves. Show which curve has a greater
elasticity at the point of intersection.

(b) When the price of a commodity falls from
T 5 (o ¥ 4, the quantity demanded increases
by 12 units. If price elasticity is equal to

() 1.5, find the initial and final quantity
demanded. - 7,8
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Using the Slutsky approach, show how price-effect
can be broken up into income effect & substitution
effect in the case of (a) normal good (b) inferior
good. Use diagrams.
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(a) Explain why the short-run average cost
curve is U-shaped.

(b) Explain the relationship between average
cost and marginal cost with the help of table

15

and diagram. 8,7
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Distinguish between pure competition and perfect

competition. Show how the firm reaches-

equilibrium both in the short-run and the long-
run ?
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What are the various fallacious arguments
favouring free trade and protectionist policy ? 15
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(a) Explain the concept of backward bending
supply curve of labour.

(b) What are the factors which determine the
total supply of factors of production in an
economy ? " 8,7
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Write short notes on any two of the following :

(1)  Concept of excess capacity

(i} Principal agent theory

(iit) Budget line 7V, TV
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